Lighthouse 1.2 (Checkpoint 3)

1. Complete this addition grid + | 6 | 5|11
2.  Calculate 14 x 4 >
16
3. Divide 20 by 4 12
4. Work out
8 cm

a 90=+10

b) 20+ 10

o 40 + 10

5. What is the value of 3 in 3657
6.  What is the perimeter of the rectangle?
/. What is the area of the rectangle (length times width).
8.  Whatis 73 add 9?
Q. What is :
a) 26-12 b) 75-23
10. How many millimetres in:
a 9cm b) 34 cm
11. Find the mode and range of: 1,3,4,7,7
12.  What do we subtract from

a) 13 to get 9 b) 9toget4 c 88 togetdl

2cm




